= XCELLENT

TRAGO

PL: Stelaz do siedziska prysznicowego
EN: Frame for the shower seat

PL: Instrukcja montazu
EN: Assembly instructions

WAZNE!
Przed rozpoczeciem montazu uwaznie przeczytaj instrukcje. Zanim rozpoczniesz montaz doktadnie
sprawdz swoj produkt. Zamontowanie produktu z widoczng wadg powoduje utrate gwaranciji.

IMPORTANT NOTES!
Read the instructions carefully before commencing assembly. Before starting the assembly, check
carefully your product. Installation of the product with a visible defect will void the warranty.

INEX.TR570.335



PL | Rysunek techniczny
EN | Technical drawing

regulowany zakres 80-120
adjustable range 80-120

335

220

| =
E ﬂ] ﬁ_* o o
0| g o o
- © %0 o © =
&
—P—
o
340 -
— e
<t
° A e
D HE’ = ©
3
N
2§
g
S o
T 2
38
52
s 8
°%
3‘1
Do
]

2 PL: Wymiary podane w mm / EN: Dimensions showed in mm

T & H BH -
397 - 465




PL | Lista elementow sktadowych
EN | Fitting and parts checklist

PL: Zastosowanie

PL: Rysunek PL: Opis PL: Specyfikacja (rodzaj montazu)* PL: lloé¢
EN: Drawings EN: Description EN: Specification EN: Purpose EN: Quantity
(type of installation)*
PL: Montaz $cienny
PL: Podktadka tylny / boczn
©8.5°2 iy v 10
EN: Washer EN: Back wall / side wall
installation
PL: Sruba M8 PL: Montaz scienny tylny
M8 x 25 4
EN: Bolt M8 EN: Back wall installation
) PL: Montaz boczny / montaz
PL: Sruba M8x60 siedziska
M8 x 60 11
EN: Bolt M8x60 EN: Side wall / shower seat
installation
PL: Stalowy kotek PL: Montaz do podtogi
rozporowy ) ; 2
EN: Steel expansion bolt EN: Floor installation
PL: Kotek rozporowy . -
Fischer 10* 50 PL: Montaz Scienny tylny 2
EN: Expansion bolt Fischer EN: Back wall installation
PL: Wkret ST80x70 PL: Montaz $cienny tylny
ST80 * 70 2
EN: Screw bolt ST80x70 EN: Back wall installation
PL: Podktadka dociskowa PL: Montaz écienny tylny
X ®8.5%1,5 ) . 2
EN: Thicken washer EN: Back wall installation
PL: Wspornik mocujacy PL: Montaz $cienny tylny )
EN: Fixation bracket EN: Back wall installation
PL: Wspornik $cienny
regulowany PL: Montaz écienny tylny )
EN: Adjustable wall EN: Back wall installation
attaching bracket
PL: Rama stelaza 1

EN: frame body

PL: Rodzaje montazu wyszczegdlnione w instrukcji ponizej / EN: Types of installation specified on instruction below




PL | Montaz stelaza

EN | Installation of the frame

PL | Montaz do $ciany PL | Dla zaktadanej wysokosci montazu siedziska: 500 mm
EN | Back wall installation EN | For assumed shower seat installation height: 500 mm

PL | Ustawic stelaz na odpowiedniej wysokosci i przytozyc go na przeciw $ciany. Odmierzyc i zaznaczy¢
punkty do wiercenia.

EN | Adjust the frame height on selected position. Put the frame against the wall and mark the holes
position for drill.

om0 -




PL

EN

PL

EN

PL
EN

Pozycja A - na $cianie
Position A - on wall

Pozycja B - na podtodze
Position B - on floor

Montaz z bocznymi
$ciankami wspornikowymi

Installation with the
side supporting wall

Dla zaktadanej wysokosci
montazu siedziska: 500 mm

For assumed shower seat
installation height: 500 mm

Pozycja na Scianie
Position on wall

v

FFL




PL
EN

PL

EN

Montaz siedziska
Shower seat installation

Po montazu stelaza, obudowac Sciane ptyta gipsowa i / lub ptytkami. Na jednym fragmencie ptyty
/ ptytce wyznaczy¢ otwory do montazu siedziska. Po petnym obudowaniu stelaza zainstalowac
siedzisko prysznicowe.

After assembling the frame, cover the wall with plasterboard and / or tiles. Mark the holes for sho-
wer seat installation on one piece of the plasterboard / tiles. After the frame is fully encased, install
the shower seat.




PL | Elementy zestawu
EN | Spare parts

Wspornik mocujacy $cienny
Wall fixation bracket

Kotek rozporowy Fischer
Fischer expansion bolt

) Sruba M8x60
Bolt M8x60

Sruby M8x60 do montazu siedziska
Bolts M8x60 for seat installation

SN

V| o % %
= Stalowy kotek rozporowm

Steel expansion bolt

\

\




=XCELLENT

Excellent SA
32-003 Podieze 662

Tel.: 12 657 18 87
e-mail: lazienki@excellent.com.pl

www.excellent.com.pl



